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(¢) The C.P.P. benefit is 259% of an average salary (which is assumed
to be the average of the best 6 years in this example) not exceeding
the C.P.P. maximum (which is assumed to be $5,000 in this example).
The C.P.P. benefits payable in these examples would be less if con-
tributions under the C.P.P. were discontinued before the contributor’s
65th birthday due, for instance, to retirement from the Public Service
without subsequent employment.

For Mr. A: 259 X $3,300 = $ 825 p.a.
For Mr. B: 259% X $5,000 = $1,250 p.a.



